oL o B > 5 > > > > > < < < < 0 0 Y v v & & & & & -6 6 6 6 -6 -t -t -+ -t -t

Doc No A-000000023-V.5

Register Date: 1402/09/19

T

Seslows S gy - MV oS

Silows Sy gy - MY oS

Seslows J88 &2 - VI F oS

Sslows Slogil a8 &2 - V110 oS

Silons lS 5 ails (55 SLUS - ¥ATR oS

Selows ulS g adds Sole cSLus - YAYA oS

Silows il g adds Sobe g g, cSLLS JolS G - YAYVLS

Silows ooz ail JolS a8 - V1YY oS

Seilows ol ail JolS a5 - V1V YYLS

Silows gl ally s SaaS LolS S5 = VVIA oS

Silows (gl ally s LA jgme - 1445 S

Seilows o5 damd = VIVY oS

g CiSe - VAAY S

Soilows o b 5 5L 48 acgome - VIVF 05

Siloms ey 4l 5S5L a8 acgorme - VIYY 05

CSLES b o3ls aly peS dws ndS - VIYY oS

SSLES (e (631 b (565 A S - NIVY oS

G (oeS dw oS - VYYD oS

> Slew VY o - VY. oS

05 plad 5 don - Seilows YV pals - WYY oS

e pled g das = (HS) Lol gl gl)0 - 0AYF oS

Silons Jobss a0l e 5 - 12V 08

Silows 31 oy - VA o

Seslows S8 oy - VIFA S

Sl Sy 9 SoS Jg (Swdly yolg - VN0 oS

Seilons &g YF @y &g YT+ Luils- VY oS

Silow Szs5 ule)sS j5590 - VIVA 05

loysS SHn g0 Jed -1V Fe us

leysS S5 y5ise J5b - 1VFY S
5o ¥ glis ) ANT (5,65 00,5 - PAYY oS




Doc No A-000000023-V.5

Register Date: 1402/09/19

Silows e Slogil ales HlaS = VY oS

Silons ey Slogil plos LS = VIFF oS

Seilows Slogil HleS aily SL5 - 1VED oS

Seiloms Slogil a8 olisS SKLs - VVES oS

Seilons Slogil HleS SKHLE 25— 1108 oS

AR

Silows SlSe laS - VVOY oS

AR

L, ool - V1OV oS

AR

Sslows olS 35Sl g = VIO oS

AR

\Y

ad V- Solows oSS o Foz - 1YY S

\Y

o5l AU Y Slogil a8 4 5 dens 4l - VIVY oS

\Y

2 5edi ad ¥ Slegsl loS 4y 1.5 des L - VIVY OS

\Y

Lo, - Sslows So8 (5,055 Jgy - VYO oS

\Y

oosB — Silons K2iS - 1100 oS

\Y

AV oekadi dand - VY)Y AYF. VO AYOA AYAY AYAF oS

\Y

Uyl aus - VYSF AYEY A YEY o5

\Y

Al Y ool dans - ATV AYFA AYFPA oS

\f

Seiloms 410 Y _5Ss )55gm daa — VYYY AYYE A YYD AYVE o5

\f

Seslows Syl jsige domd = VYVA AYVE o8

\f

Silows 4 ¥ s5uls gige dad — VYV AYAY oS

VO

Soilew ad ¥V ooSuli a8 - 1VAT AVAY AVAY oS

VO

Seilows Jlsbo ails ;8- 1¥23 YA oS

VO

Silows € ¥ sSuds 4l 23— 1Y oS

\¥

\¥

ad ¥ Sl olS g 4l S e — ITIO APV ATIF AFIY AT ATV oS
sl oS g ail JuSs aew - YTVA AYVY OFVF oS

\¥

WY ool (ol8 g aids oSS o - VYYT AYTY AYYY oS5



Doc No A-000000023-V.5

Register Date: 1402/09/19

'Sematic - S 5low |

A)
20 )
e

Hex Nut M8
Serrated Lock Washer M8

+0.05 14_
ref /69 -0.02 RO

nZ A

Hex Head Bolt M8 x 25
Serrated Lock Washer M8
Washer 8x30x2

Hexagon socket head screw M8x20
Spring wahser M8

Q

Thin Nut M10

10.50 0.10) _
4.50 20.50) | __

25 T

32.50+0.50, [~

\
.
Bearing holes 7

25 #0.10.

K3

Hex Head Bolt M6x25 - Special
Nut with Waher M6

Washer 6x12x1.5

‘Washer 6x15x2.9 - Special

A

Yo oVory

*8Ye-\\e V. F¥

CY) AAYFIY ¢ Slaly o oals

1111 VS oS
S loww S >z :rl.':

Name: Eccentric Roller

1112 NS oS
S loww S)}g oz :(’U

Name: Cocentric Roller

1113 NB 45
Slows by s 252 200

Name: Rope roller

1114 35 oS
SSlow Ja8 &,z 100

Name: Door roller

1115 :NI§ aS
SSlow Slogsl ObS gz :pb

Name: Skate Roller

t.me/salesasre

Telegram




Doc No A-000000023-V.5

Register Date: 1402/09/19

'Sematic - Sooloww |

| @ | @ )
2X pan head cross recess screwM4 x 10
2x Washer 4x12x1.5
2x Nut M4

N, T T T T !

- 40 =
J315)4%10 s> 4% 200w guil>1d>gs
g sl &515)5 5 Hgilyl husi(j;ln wslis

2x Nut M4
2x Washer 4x12x1.5

J313)4*10 sl> 414205 055> a2
39 plail AsylS 55 ) gilyal bauwgi(Fale CSLus

2X pan head cross recess screwM4 x 10
4x Nut M4
4x Washer 4x12x1.5

3x Hex Head Bolt M6x15
3x Washer 6x15x1.5

3x Hex Head Bolt M6x15
3x Washer 6x15x1.5

Yo oVory

*8Ye-\\e V. F¥

CY) AAYFIY ¢ Slaly o oals

3939 NS oS
SSlew G5 9 dib g5 CSWS il

Name: Male Contact

3938 IS oS
Silow ulS 9 dids (Sole CSLS il

Name: Female Contact

3937 NS oS
@M*{Sg@ufobg@)&stﬁys&::cb

Name: Door Contact Set

1122 IS 45

@M%MJAISJE<=IJ

1123 SIS a5
SSlow Cwly didb JolS J48 :<=L3

t.me/salesasr@

Telegram




Doc No A-000000023-V.5 Register Date: 1402/09/19

Sematlc S Loww ]

1118 :¥S oS
g SSlow gl Al SéaS S &.3 :‘alB
Name: Shoe Sets

Hex Head Bolt M8x12
Washer 8x16x1.5

1119 :NS oS
SSlow gl il SiuaS ol
Name: Door giude shoes

& 1996 VIS oS
SSlew ! 43'_9).): SdS Hgome fb
Name: Guide shoe holder

Hex Head Bolt M8x12
Washer 8x16x1.5

11T NS 85

3
Slow 55 dowss :pb
Name: Belt fixer

2x hexagon socket set screw - M8x10

1993 VIS oS

Name: Switch Magnet

2x Socket Cap Screws M4 x 8

mlt RTRRTRVRY RIRRTRVRS YD) AAPTANY 1 Loy oo yils t-me/salesanG

Telegram




Doc No A-000000023-V.5

Register Date: 1402/09/19

Page: 4-14 {Sematic == s.S.él.o.w ’

L

1126 YIS oS
SSlow g dids (S 5L a8 degamae tpls

Name: Emergency door set (Left)

1127 NS oS
Selow Conly i 5 5 Ui degacna 10l

Name: Emergency release set (Right)

1133 VS oS
CSLS b 6318 by GhsS dw wulS :pl

Name: Triangle key with contact

1134 35 oS
CSLES G931 oy G9sS duw alS a5

Name: Triangle key

1135 Y15 oS
S8 GbgS duw uS :pls

Name: Triangle key Steel

CY) AAYFIY ¢ Slaly o oals t.me/salesasre

Telegram



Doc No A-000000023-V.5

Register Date: 1402/09/19

Page: 5-14

'Sematic - Soilow |

Sensor Encoder D

Input voltage| 220V AC | <2505 395

Motor  24vDC - 50-200W 55

Full. Auto
 Elevator door
Control type

Application ]

JES e s

(mm) sl

PWM/PID

Dimensions (mm) 205 x 175 x 65

Hex Head Bolt M5x12

Washer 5x15x1.5

S44 0+

U4 S g e Su+
U5 aS g e SO+
(C-CM)5 5 S sus 338 S+

53 slaialy +

Sensor Magnet S

Input voltage | 220V AC | 255 34

Motor 24VDC - 50~zoow“ J5sa

Full / Semi.Auto
Elevator door

Application ]
2x Hex Head Bolt M5x12

2x Washer 5x15x1.5

Control type | pWM/PID ' Jdisg s

Dimensions (mm)| 207 x 165x 87 | (mm) =\

BB b S

u.:l\.'le.ASJuJAF <o+
U4 S g 23e S+
U5 SS g e S+
(C-CM) 2l 5§ S g 228 S0 +

S003 slada) ; +

Sensor Magnet s

Input voltage 24V AC

S50 34

Motor  p4vDC-50-120W

Semi.Auto
Elevator doo

PWM

Application

2x Pan Head Screw M4 x 10
2x Hex Head Bolt M6x15
2x Nut with Waher M6

2x Washer 4x12x1.5

2x Washer 6x15x1.5
2x Nut M4

Control type JAse s

Dimensions (mm) 180 x 55 x 82

(mm) 2=

J

10 S 2 S+

5313 slaia) ; +
J

ool s 3 o -‘-’9']

wSailow Jolai o 0

093 {99 9 03 195 SIS Caowd &)
g yioadao P.Y glad 2159w 3
S350 8 0 590 (Jolai p s

» -
o0 g Al 1x Thin Nut 5

1x Telescopic-Balance-Lever-Pin

AR A a *8Ye-\\e V. F¥

AN

CY) AAYFIY ¢ Slaly o oals

1130 VIS5 &S
Wz Slow 22 (u8)s 1plb

Name: Dolphin 22 NEW

1131 :35 oS
e plé 9 dop - SSlow 33 (udld 1pls

Name: Dolphin 33

5936 N uS

S plé 9 dod - (HS) ol gl 9215 106
Name: Drive HS

1997 (Y8 X

Name: Telescopic-Balance-Lever-Pin pack

t.me/salesasr@

Telegram




Doc No A-000000023-V.5

Page: 6-14

Register Date: 1402/09/19

\ Sematic

- ui.ul.o..w

4x Countersunk Screws M3 6x3/8 inch

HEX NUT M10
3x Washer 16x40x3

1148 NS S

&u““[o.w S)}g L;-’S:’. :fl.i

4x Countersunk Screws M3 6x3/8 inch

HEX NUT M10
3x Washer 16x40x3

1111

4x Countersunk Screws M3x6 3/8 inch

24V - 3 AMP
220V>{

7V -1AMP

F 50/60 HZ
HI 84/39 MM

4x pan head cross recess screw M4x10

4x Nut M4
4x Washer 4x12x1.5

220V > 24V -3 AMP

F 50/60 HZ
HI 84/39 MM

4x pan head cross recessgscrew M4x10
4x Nut M4

1149 V8 oS

Sslow Sz58 Jog 1l

1150 Y5 oS
SSlew Sy 9 SoeS I Setadly Blg 1pl

Name: -

1170 NS oS

SSlow CJg 7 9 Sy 24 4 &g 220 uilys :Ct’

Name: -

LI7L NIS 45
SSlow Cdg 24 45 g 220 il 3 :pb

Name: -

4x Washer 4x12x1.5

Fse

Yo oVory

*8Ye-\\e V. F¥

CY) AAYFIY ¢ Slaly o oals

t.me/salesasr@

Telegram




Doc No A-000000023-V.5

Register Date: 1402/09/19

S Lo |

Page: 7-14 { Sematic =

24 V DC

1600 RPM

Made in turkey

BLE ol id 4x Hex Head Bolt M5x12
4x Washer 5x15x1.5

24V DC

1000 RPM

Made in turkey

LJ::")S OlA g)i.*-‘i’ 4x CYLINDER HEAD CAP SCREW MS8X20

x Socket Set Screw Flat Point M4x5

4
4

2x Socket Set Screw Flat Point M6x5

AN

Yo oVory

*8Ye-\\e V. F¥

CY) AAYFIY ¢ Slaly o oals

1138 Y5 oS
SSlow Sz9S wlaysS Hg394 1pb

Name: Kormas motor
1139 :¥5 oS

SSlowr Sz oulaysS Hgdse 1pb

Name: Kormas motor

1140 :VS oS
oloygS Sy32 15390 Jod ipls

Name: Motor Brass Pulley (big)

1142 NS oS
SSlew Sz9S yg3ge (J9d :pb

Name: Motor Brass Pulley (small)

3823 VS oS
Ao 2 gWHIANT Gugd 005 & el

Name: Light Curtain-Height: 2 Meter

t.me/salesasr@

Telegram



Doc No A-000000023-V.5

Register Date: 1402/09/19

Page: 8-14

4x Hex Head Bolt M6x15
4x Washer 6x15x1.5

4x Hex Head Bolt M6x15
4x Washer 6x15x1.5

=t

(

©

$8

] e~

2x Hex Head Bolt M6x25
2x Washer 6x12x1.5

¢

-

O

©

+

2x Hex Head Bolt M6x25
2x Washer 6x12x1.5

mlk RTRRTRVRY RIRRTRVRS V1) AAPFINY Loy ol ils t.me/salesasr@

1143 :Y5 oS
SSlew iz Olagsl plé OLS :pb

Name: Skate assembly (Left)

1144 NS oS
SSlow Cawly Olagsl plé OlS :pb

Name: Skate assembly (Right)

1145 :¥5 oS
Slow Slagsl GloS wily S ol

Name: -

1146 NS oS
SSlow Slagil GleS oS KL ol

Name: -

1159 IS 4S
Silow Slogsl 9leS S5Ls 6 b

Name: -

Telegram




Doc No A-000000023-V.5

Page: 9-14

Register Date: 1402/09/19

‘Sematic - 5 loww |

4x CYLINDER HEAD CAP SCREW M6X15
2x Hex Head Bolt M6 x 15
4x Nut with Waher M6

4x Spring washer M6

countersunk flat screws(DIN965) M4x14
Spring wahser M4

Washer 4x12x1.5

Nut M4

4x Countersunk Screws M3 6x3/8 inch

)095.2‘ Sy S0y

o

£

1R}

2x Countersunk Screws M3 6x3/8 inch

A

Yo oVory

*8Ye-\\e V. F¥

CY) AAYFIY ¢ Slaly o oals

1153 NS oS

Slew Sl OLS el

1157 :¥5 oS

by ool :pb

1151 :y5 oS

SSlew S5 505551 (Jgy :<=l3

1994 NS oS

S loww (w3) BENY] oo :fL’a

Name: Wire encoder

t.me/salesasre

Telegram




Doc No A-000000023-V.5 Register Date: 1402/09/19

Page: 10-14 ‘Sematic - &&JL&M}

1329 NS oS
m3-®:MJ¢&wtﬁ:¢U
C) Name: -

CYLINDER HEAD CAP SCREW M8 X 20
Spring wahser M8

1173 NS aS

o5li a2 Ologil OLeS 4y 1S dowd by zpl
2x Hex Head Bolt M6 x 20
2x Hex Head Bolt M6 x 15

2x Nut with Waher M6
2x Washer 6x15x1.5

2x Washer 6x12x1.5

Name: -

1174 :¥5 oS

(Ro5udi a3 Ologsl OLeS 4y 1S dewd by zpl
2x Hex Head Bolt M6 x 20
2x Hex Head Bolt M6 x 15
2x Nut with Waher M6
2x Washer 6x15x1.5

2x Washer 6x12x1.5

Name: -

1350 :V oS

Ly~ SSlow Sz gS (839955 oo :eb

G

Hex Head Bolt M6x15
Serrated Lock Washer M6

Washer 6x15x1.5

/"_5
mlk RTRRIRVR 2 R TPRTRYR ¥ AAFYANY & Loy (glo pils tme/salesasr@

Telegram




Doc No A-000000023-V.5 Register Date: 1402/09/19

Page: 1114 \Sematic - J.oLo.w’

&.«}LM doud :(‘t’

Name: Sematic Timing Belt

Price / Jb -Cod Product Code/ Jsazs &5 | Length mm / mm Jsb | System type / eiuwcww & 93
1256 2030 - H880 70

1257 2280 - H900 80 42 oSl dows :pb
1258 2760 90
1259 3040 100 Name: 2Panels telescopic belt
1260 3390 110
1261 3640 120

Price / JL ) -Cuad Product Code/ Jsams oS | Length mm / mm Jsb | System type / giwcw g o5
1262 2810 - H1100 70
1263 3030 - H1150 80
1264 3410 920

JIke dows b

Name: central belt

Price / Jby -Cuod Product Code/ Jgaxs &S | Length mm / mm Jsb | System type / etuw g o5
1268 1960 - H770 70 w3 (oSl dows 10l
1269 2230 - H880 80
1270 2480 90

Name: 3panels telescopic belt

mlk e 2 “A)em)1eV PP YD) AAPYANY : Lol (sla (il t.me/salesasr

Telegram




Doc No A-000000023-V.5

Page: 12-14

' Sematic -

S low |

Register Date: 1402/09/19

SSlew y599e dawd 1pb

Name: Sematic motor Belt

Price / Jb -Cod

Product Code/ Jgazs 45

Length mm / mm Jgb

System type / eiusw & o5

1274

j660

70

1274

j660

80

1275

j864

90

1276

j940

100

1277

j1123

110

1276

j940

120

Price / JL ) -Cuad

Product Code/ Jgasw 45

Length mm / mm Jgb

System type / etuuw ¢ o3

1274

j660

70

1278

j1016

80

1278

j1016

90

Price / Jby -Cod

Product Code/ Jgazs 45

Length mm / mm Jgb

System type / eiuwsw ¢ o3

1282

j610

70

1282

j610

80

1274

j660

90

Fse

AR A a

*8Ye-\\e V. F¥

CY) AAYFIY ¢ Slaly o oals

Silew 412 U.ggm 950 daws :ab

Name: Sematic telescopic belt

&:3[@.» JIle Hgige dawd fL’

Name: Sematic central belt

\S.:Slo-d a3 U".,M 9950 dawd (ﬂb

Name: Sematic 3panels belt

t.me/salesasr

Telegram




Doc No A-000000023-V.5 Register Date: 1402/09/19

Page: 13-14 ‘ Sematic = &.S.ULOM ’

SSilow ddb 78 :(AU

Name: Sematic Spring Landing door

Price / Jb -Cod Product Code/ Jsams oS | Length mm / mm Jsb | System type / otuuw g o5
1292 450 70

1293 510 80 Slow 4202 ysSuds dids 58 :als
1294 560 90
1294 560 100 Name: Sematic telescopic Spring
1294 560 110
1294 560 120

Price / JL ) -Cuad Product Code/ Jsams oS | Length mm / mm Jsb | System type / giwcw g o5
1298 250 70
1299 300 80
1299 300 920

Soilow JIole i 53 10l

Name: Sematic central Spring

Price / Jby -Cod Product Code/ Jgaxs &S | Length mm / mm Jsb | System type / etuw g o5
1299 300 70
1299 300 80
1299 300 90

Slow a3 (oSuds dids 58 :pb

Name: Sematic 3panels Spring

mlt RYRRIRR LY NIRRT 1 YD) AAPFINY 2Ly sl oydls t.me/salesasr

Telegram




Doc No A-000000023-V.5 Register Date: 1402/09/19

Page: 14-14 ‘ Sematic = &.S.ULOM ’

Sl S 9 i JuSy o 11

Name: Sematic Spring Landing door & Car door

55wl 508 9 dids JuSS o JISke 5ol 5 dids JuS oo

Price / Jb -Cod Product Code/ Jsazs oS | Length mm / mm Jsb | System type / otuuw & o5
1310 1180 70

1311 1280 80 W2 Sl 5lS 9 di JuS gew tpb
1312 1380 90
1313 1480 100 Name: -
1314 1580 110
1315 1680 120

Price / JL ) -Cuad Product Code/ Jsams oS | Length mm / mm Jsb | System type / giwcw g o5
1316 2900 70
1317 3210 80
1318 3640 90

Jle 58 9 dids JuSo paw 2pls

Name: -

Price / Jb, -Cwod Product Code/ Jgaxs &S | Length mm / mm Jsb | System type / etuw g o5

1322 900 70 43 (oSuls GulS 9 dib JuSs euw 1l

1323 990 80
1324 1050 90

Name: -

mlt AN LS IR (YD) AAFFIY ity ola oils t.me/salesasr

Telegram




